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Points:

1.	 Kakuro 	 23

2.	 Kakuro 	 40

3.	 Kakuro 	 37

4.	 Wolves and Sheep Fences 	 13

5.	 Wolves and Sheep Fences 	 34

6.	 Wolves and Sheep Fences 	 46

7.	 LITS 	 11

8.	 LITS 	 23

9.	 LITS 	 48

10.	 Crack It On 	 6

11.	 Crack It On 	 22

12.	 Crack It On 	 32

13.	 Shape Minesweeper 	 12

14.	 Shape Minesweeper 	 36

15.	 Shape Minesweeper 	 57

16.	 Cave 	 27

17.	 Cave 	 54

18.	 Cave 	 79

TOTAL:		  600

General Notes: No special notes for this round.
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1-2. Kakuro [Serkan Yürekli] (23, 40 points)

Place a digit from 1 to 9 into each white cell.  The numbers in grey cells indicate the sum of 
digits in the adjacent “word” across or down.  (Across “words” are to the right of their sums, 
Down “words” are below their sums.)  Digits may not repeat within a “word.”

Not all “words” will have a provided sum.

Answer: For the indicated rows, enter their contents.  (Ignore non-white cells when doing 
so.)

Example Answer: 1393,172

        

  7 13 16

     29

      6

    4

        

 10

 28

 4   12

  11

   10

  2 1 7
  4 7 9 8
  1 3  9 3
   2 3 5 1
    1 7 2

1a

1b

        

     11 24

         6

  9     7 21   3

   12

     11

       15   4 13

  3    4

    4

        14

   7

    17

     34

 7    12

 33

      16

         10

 24

      8

      21

2a

2b

        

  13 11 22   10 10

      23

     11

  15      20

   14    8

 27     12

 9    8

   6

   21

   13

 22    9

 10   27
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3. Kakuro [Serkan Yürekli] (37 points)

Draw a single, non-intersecting loop that only consists of horizontal and vertical line segments 
between the dots. A number inside a cell indicates how many of the edges of that cell are part of the 
loop.  Cells marked with “w” (for “wolf”) must be outside the loop; cells marked with “s” (for “sheep”) 
must be inside the loop.

You may only draw on the grid, as indicated by the dotted lines.

Answer: For each designated row, enter the lengths (number of cells) of each contiguous segment of 
cells inside the loop, from left to right. Use only the last digit for two digit numbers; e.g., use ‘0’ for a 
segment of length 10.  If there are no cells inside the loop for a row, enter the single digit ‘0’.

Example Answer: 4,11

 s   3
  3 s
 2 w 3
    w

4. Wolves and Sheep Fences [Dave Tuller]  (13 points)

See previous page for instructions.

3a

3b

        

   32 4   39 4 14 10

     36   9

    10     31

  17

   5 14    16

 13    26

 15    5

 10   11

   13     15

    17    12

 20      17

 0  s 3   0  2
  w   w   w  3
 1  0   2   0
  1  s    2  s
  3  w  1 3   3
    w 1  2  w
 0  w    0  2
  w   w   w  3
 w  0   2   0
  1  s   3 s  s

4a

4b
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5-6. Wolves and Sheep Fences [Dave Tuller]  (34, 46 points)

Answer: For each designated row, enter the lengths (number of cells) of each contiguous segment of 
cells inside the loop, from left to right. Use only the last digit for two digit numbers; e.g., use ‘0’ for a 
segment of length 10.  If there are no cells inside the loop for a row, enter the single digit ‘0’.

Example Answer: 4,11

 s   3
  3 s
 2 w 3
    w

 w   1     w
  0 s   w  s  1
 1   2 1 3   2 3
  0  1 s  w 3
   w 2  w   w 1
 3 w   w  2 3
   2 1  2 s  2
 2 2   1 2 2   0
 2  w  3   3 s
  3     1   3

5a

5b

6a

   1  1 2 3 3
 3   s     1 3
  0  3 1  w 1  2
   w  s  2  s 2
 3  1  3  s  1
  2  s  2  3  1
 3 s  1  s  w
 2  2 w  1 3  1
 2 2     s   3
   3 2 2 2  3

6b
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7-8. LITS [Thomas Snyder]  (11, 23 points)

Shade exactly four connected cells in each outlined region to form a tetromino, so that the 
following conditions are true: (1) All tetrominoes are connected into one large shape along 
their edges; (2) No 2×2 group of cells can be entirely shaded black; (3) When two tetrominoes 
share an edge, they must not be of the same shape, regardless of rotations or reflections.  
(These rules ensure that every tetromino can be labelled “L”, “I”, “T”, or “S”, based on its shape.  
However, it is not true that all four shapes have to be present in the grid; for example, it is possible for your solution to 
not have any “I” shapes.)

Cells with an ‘X’ (if given) are not part of any region.

Answer: For each designated row, enter the contents of each cell, from left to right. For each cell, its contents are the 
letter of the tetromino occupying that cell, or the letter ‘X’ if the cell is empty.

Example Answer: LLXTXL,TTTLLL

7a

7b

8a

8b
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9. LITS [Thomas Snyder]  (48 points)

Place one letter into each region (they need not be distinct) so that each word in the 
given list appears exactly once in a row (reading left-to-right) or column (reading top-to-
bottom) of a grid.  (Note that some regions are in multiple rows and/or columns.)  

A puzzle may have multiple grids (with one word list shared among them); it is up to you 
to determine which grid each word appears in.

Whether or not regions are shaded are only used for entering your answer.

Answer: Enter the letters in the shaded regions, from left to right.  (The letters in the 
shaded cells will not necessary form readable words.)

Example Answer: CEUDRY

10. Crack It On [Cihan Altay]  (6 points)

See previous page for instructions.

9a

9b

   U M P
  E S O
 L    R A
     T Y
 C R A  
 E   D  R  L

 P     S

  A U
    N
     E

 A R E A
 E R A S
 H E R A
 M A L T
 M A S T
 M E A T

 M E L T
 R A R E
 T E A M
 T E R M
 T H E M
 T R A M
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11-12. Crack It On [Cihan Altay]  (22, 32 points)

Whether or not regions are shaded are only used for entering your answer.

Answer: Enter the letters in the shaded regions, from left to right.  (The letters in the shaded 
cells will not necessary form readable words.)

Example Answer: CEUDRY

   U M P
  E S O
 L    R A
     T Y
 C R A  
 E   D  R  L

 P     S

  A U
    N
     E

 A G A P E
 A R E N A
 A R G O T
 A R O S E
 C H A O S
 C H A R T

 C H E W S
 M O T E L
 O W N E R
 P S A L M
 R A S P Y
 R A W E R

 R E P E L
 R O P E D
 S C A M S
 S C A R S
 S T A R S
 S T R O P

 S T Y L E
 S W A R M
 S W E D E
 T H E T A
 T H R E W
 T H R O W

 A E G I S
 A G A T E
 A M U S E
 A O R T A
 A R O M A
 A T O M S

 A U G U R
 C O V E N
 D E M O N
 D E M O S
 D E V O N
 E R N S T

 F A R M S
 F L A N S
 H O T E L
 L E A S T
 M A J O R
 N I N J A

 P R O M O
 R A N C H
 R O U G E
 R U M O R
 S C A D S
 S C O L D

 S H A D E
 S H R E D
 S L A N T
 S O R E R
 S P R A T
 S T A L E

 S T E A D
 S T R A W
 T E S T S
 T R E A T
 T R U E R 
 W O R S T
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13-14. Shape Minesweeper [Thomas Snyder]  (12, 36 points)
    0
       4
   2
 0
        2
      0 
  3
     0

T

I

L

O

S
Place all of the given shapes into the grid.  The shapes may be rotated and/or reflected.  Shapes 
cannot cover the numbered cells.  Shapes cannot touch each other (not even diagonally). 
Numbered cells indicate how many of the surrounding cells (including diagonally adjacent cells) 
will contain a shape part.

The letters on the shapes are only used for entering your answer.

Answer: For each designated row, enter the letter for each shape that appears in that row, from left 
to right.  Within a row, if a shape occupies more than one cell, enter that shape’s letter multiple times, 
once for each cell.  If there are no shapes in that row, enter a single letter ‘A’.  

Example Answer: SSI,A

13a

13b

13c

    1   2

    1   2

   1  1 2  2
   3  3 4  4

    3 3 4 4

        4

T

I

L

O

S

14a

14b

14c

     3    4
  2    3
   3    4    3
    2    1
 3    4    2
  1    2    1
   2    2    1
    2    4
 2    1    2
      3    3
   2    2

T

I

L

O

S

T

I

L

O

S
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15. Shape Minesweeper [Thomas Snyder]  (57 points)

    8
 2 3  6

  2  6 3
  5

Shade some cells to leave behind a single connected group — the cave — with no enclosed shaded 
cells. In other words, all shaded cells must be connected edge-wise by other shaded cells to an edge of 
the grid. All numbered cells must be a part of the cave, with each number indicating the total count of 
cells connected in line vertically and horizontally to the numbered cell including the cell itself.

Answer: For each designated row, enter the length in cells of each of the cave segments (not the shaded 
cells outside the cave) from left to right.  Use only the last digit for two digit numbers; e.g., use ‘0’ for a 
segment of length 10.  If there are no cells belonging to the cave in the row, enter a single digit ‘0’.

Example Answer: 22,4

16. Cave [Roger Barkan]  (27 points)

See previous page for instructions.

15a

15b

15c

    1    0    2

 2
    6  6   2  4   2

    6  5   4  5
 0
              3
    2  4   4  1

 1   3  2   4  1
              3

   1    3    1

V

X
T

U

I

W

L

P

Z

F

N

Y

  3   4 3   2
 7         5
 5         4
 8         7
  9       6
   6  7 9  6

  8       3
 5  4     5  4

16a

16b
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17-18. Cave [Roger Barkan]  (54, 79 points)

Answer: For each designated row, enter the length in cells of each of the cave segments (not the shaded 
cells outside the cave) from left to right.  Use only the last digit for two digit numbers; e.g., use ‘0’ for a 
segment of length 10.  If there are no cells belonging to the cave in the row, enter a single digit ‘0’.

Example Answer: 22,4

    8
 2 3  6

  2  6 3
  5

   3       3
    5   7  5
 3     5
  7       11
        5
   7
  11       9
     11     9
  3  11   9
 7       9

17a

17b

    4   4
   3     7
  6       5
 5     6    6
     5
      4
 5    7     6
  8       9
   6     8
    7   7

18a

18b


